EARAROBREBRT —5 XN—ZXBISH—F 2021098188 (£) 5SEFR3H

UHOSF3mELE 1BISX (BY) =2 B I
[AXE%) 1 & :7,600,000  ~ 23&:3,000,000 "  337%:1,900,000 @ 4 3#&:1,100,000  ~ 5 & :760,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N N MRS :10. - ) . ZILER (ER)
1| L—ury 3| BB 1(1_0)9 1-1 36.8| 93.6 | 6 (4_8(:1) Pume
RUFIWAVINI N B TTARVTh IHZT7— L
o~ _ 4 3 | EHE 1:11.1 3-3 36.9| 91.7 | 1 500 | EEEE (SRER)
2l gl3| RvFP—TI %20 o Ly | @) mmhoLF TR
RIUFZIAVINT S B RODAT7AY EERS
~ ST\ 3 o5 | BREEE 1:11.2 12-12 [ 35.6| 9.4 | 7 502 | IROEE (EH)
3pd 2| OL—YFTNO—Y 57.0 ™ G | B HEL-RR—R
R:20U—vbe—0O— B:FA5—N—hY HBIT7—L
= 4 4 | WERK 1:11.4 10-10 [36.4| 88.7 | 5 80 |PRRE ERN)
417110 TLZHRR 57.0 (/4) o) | FAEERL
RikodoO0—U— B:FLSRR hEis
—wy RIS 43 | AP 1:11.4 6-6 36.9] 8.8 | 2 56 | SHE(ER)
5l5|7 | RA—Ly bTVT 5.0 F9%) we | @B 73-LAK

R:ZVF=TAI B:TAVIILFr—= TI95T7—L

S — » 4 4 | BHEXA 1:11.5 11-11 36.2| 87.7 | 12 | 504 |EREE$EE (RER)
]4 AAA3I=IRD A54.0 (3/4) -18) AN

RFVIvH /e B/ —RINARSI Siathe
. BEFRA . - . . SRR (ER)
71111 |®@TILAU— ) (11 111/28) oo |3 B2 3 (534(; #) JIWIYFA—PSTLw KRR
X:Graydar #:Miss Luna Springland Farm
3 | FEARA 1:11.8 4-3 37.5| 85.3 | 8 524 | iBEE (EN)
8l5l6|RU—E—UZ "3RS AT oy | 25HEE @)
RIE—UR B:RU—ARF= T s
9 g | ZhvEOTIL— o4 UA\;S)%L 1(:31/14.)9 68 |37.3] 842 | 10 (43;) ﬁﬁ?%ﬁﬁ
Ri—>—vwF B:ZhRvEOF7IT= REBUS
o REWEE : H FEIE:
10l 5| 7—ILRE-UZ # 3 3594@0 1(712t§> 98 |37.2] 8.2 | 11 z:g;t imu%% &R
RIE—UR BIN=YvAZVT hEH S
= = t 3 | BHF 1:12.1 2-2 38.0| 82.8 | 9 470 | EREIE= (FEH)
Mz TAITLNYTH— * 5.0 (3/4) oy | TEER
RIIRART—ILYF— BRYFRILL NYERTP—L
= s ALLBLF . u 7=l
12 3 29 —F T )S—5' 4 3 E’glogLFF 1.(122).5 4-3 38.2|79.4 | 4 (z_lfé) 7lI:Jg_‘tliﬁz (FExR)
R:FARAIU—rFvy b~ B:FADTYT 41— Iz
= » FULUE—EB : - HFHBETT (FER)
1318l 12| S7ILEALT—R i 3 nu 1.(183).3 13-13 | 37.9] 67.3 | 13 (:16132) %E’Eg
R:ANOVIUI—Y BT/ 1/5—T 9 =T FHS
[ BN
En'y 48.3-36.8
NOYFA LA | 12.4-10.2-11.5-12.1-11.9-12.8
@ 1—F—&BIEL
13—7+—
20—7F—
30—7— (x9,11)13(3,6) (1,7,8)5,10-4,2,12
43—F— (9,11) (3,6,13) (1,7) (5,8)10,4,2=12
o ILRE
B s 9 1,220M AR 9-13 930M 3= 6-8 1,580 3EE 2-9-13 9,570M
B B 9 310 2-9 3,310 Fs E 9-13 2,580H 3EH 9-13-2 59,9904
13 180F4 2-13 6504 o= 9-13 6,370M
2 380H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



